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→ intuición
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b) para que me se detenga ⇒ ✗⇒
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reemplazamos ✗ max F
← Me

peering
= kxmax

"a:±÷µ→% .- ÷.

iremos = M¥91 %)

Me = - Me ⑤ Me ✓ a + Jmj/v2 - 2mgD)
"



Me + Me = Me M / II'

( Me + Mc)
'

= Mi ( % )

( Metro)
'

= Mi / L + I (v' - 2mgD) )ping

( %)' = Mi + RMX ( v2 -2mg D)
Fuga

mi + quema +MY - MY =

VImg-HMII-gkpei-zpuepec-2.mn?k--Vm-Kj
Min -

2peepecmi-2prcDK-VTg-fg-nlplem-2peepecm-2MCD.br) = V2

{
"

kilo
" G

M

a) Determinar la de elástica

conservamos energía

Ei = Ef ⇒ ¿ KL
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resorte % N
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estirándose
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aplicamos la condición del enunciado N = 0 y 9=0

-Mig - KIL - ×) = O

- Mg = KIL - × ) = KL - kx

kx = KL + Mg ⇒ ✗ = L + Mig
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